Examiner: Baydaa Jaber B) Solve this system if k = 1? Q3/A) Find K if the following system has infinitely many solutions: 6x-y+z=13, x+y+z=9, 10x+y-kz=19Q2/ Determine the Eigen values and Eigen vectors for 0 Q1/ Find the real form of the Fourier series for the function: Faculty of Engineering Mat. Eng. Dept. Exam ·Mustansiriyah University $f(x) = |\sinh ax|,$ $-\pi < x < \pi$, and then obtain complex form. 2018-2019 Head of Department: Subject: Engineering Analysis Max. Time: 90 min. Class: 3th year Date: 24 / 12 / 2018 $\begin{bmatrix} 1 \\ 0 \end{bmatrix}$ and then find A^{-2} ? Max.Mark: 15 %

 $|f(x)| = |sihhax| = \begin{cases} sihhax & sihx > 0 \\ & (0,17) \\ -sihhax & sihhax < 0 \\ & (-17) \end{cases}$ $|f(-x)| = |sihhax| = |sihhax| \implies \text{ an}$ $O(0) = \frac{2}{\pi} \int \sinh \alpha x \cdot \frac{\alpha}{\alpha} = \frac{2}{\alpha \pi} \cosh \alpha x$ = 2 [Coshat-1]. an = = Sinhax Cos nax dx $= \underbrace{\frac{dx}{e}}_{e} \underbrace{\frac{dx}{e}$ = I Sexcosnx - Secosnx dx $= \frac{1}{\pi} \left[\frac{e^{\alpha x}}{a^2 + n^2} \left(a_{GS} n_X + n_S n_{NX} \right) - \frac{-a_X}{a^2 + n^2} \left[-a_{GS} n_X + n_S n_{NX} \right] \right]$

$$= \frac{1}{\pi(a^{2}+n^{2})} \left[e^{a\pi} (a(-i) - a) - \left[e^{a\pi} (-a(-i) + a) \right] \right]$$

$$= \frac{1}{\pi(a^{2}+n^{2})} \left[a^{a\pi} (-i) - a + a e^{a\pi} (-i) - a \right]$$

$$= \frac{1}{\pi(a^{2}+n^{2})} \left[a(-i) \left[e^{a\pi} + e^{a\pi} \right] - 2a \right]$$

$$= \frac{1}{\pi(a^{2}+n^{2})} \left[a(-i) \left[e^{a\pi} + e^{a\pi} \right] - 2a \right]$$

$$= \frac{1}{\pi(a^{2}+n^{2})} \left[a(-i) \left[e^{a\pi} + e^{a\pi} \right] - 2a \right]$$

$$= \frac{1}{\pi(a^{2}+n^{2})} \left[a(-i) \left[e^{a\pi} + e^{a\pi} \right] - 2a \right]$$

$$= \frac{1}{\pi(a^{2}+n^{2})} \left[a(-i) \left[e^{a\pi} + e^{a\pi} \right] - 2a \right]$$

$$= \frac{1}{\pi(a^{2}+n^{2})} \left[a(-i) \left[e^{a\pi} + e^{a\pi} \right] - 2a \right]$$

$$= \frac{1}{\pi(a^{2}+n^{2})} \left[a(-i) \left[e^{a\pi} + e^{a\pi} \right] - 2a \right]$$

$$= \frac{1}{\pi(a^{2}+n^{2})} \left[a(-i) \left[e^{a\pi} + e^{a\pi} \right] - 2a \right]$$

$$= \frac{1}{\pi(a^{2}+n^{2})} \left[a(-i) \left[e^{a\pi} + e^{a\pi} \right] - 2a \right]$$

$$= \frac{1}{\pi(a^{2}+n^{2})} \left[a(-i) \left[e^{a\pi} + e^{a\pi} \right] - 2a \right]$$

$$= \frac{1}{\pi(a^{2}+n^{2})} \left[a(-i) \left[e^{a\pi} + e^{a\pi} \right] - 2a \right]$$

$$= \frac{1}{\pi(a^{2}+n^{2})} \left[a(-i) \left[e^{a\pi} + e^{a\pi} \right] - 2a \right]$$

$$= \frac{1}{\pi(a^{2}+n^{2})} \left[a(-i) \left[e^{a\pi} + e^{a\pi} \right] - 2a \right]$$

$$= \frac{1}{\pi(a^{2}+n^{2})} \left[a(-i) \left[e^{a\pi} + e^{a\pi} \right] - 2a \right]$$

$$= \frac{1}{\pi(a^{2}+n^{2})} \left[a(-i) \left[e^{a\pi} + e^{a\pi} \right] - 2a \right]$$

$$= \frac{1}{\pi(a^{2}+n^{2})} \left[a(-i) \left[e^{a\pi} + e^{a\pi} \right] - 2a \right]$$

$$= \frac{1}{\pi(a^{2}+n^{2})} \left[a(-i) \left[e^{a\pi} + e^{a\pi} \right] - 2a \right]$$

$$= \frac{1}{\pi(a^{2}+n^{2})} \left[a(-i) \left[e^{a\pi} + e^{a\pi} \right] - 2a \right]$$

$$= \frac{1}{\pi(a^{2}+n^{2})} \left[a(-i) \left[e^{a\pi} + e^{a\pi} \right] - 2a \right]$$

$$= \frac{1}{\pi(a^{2}+n^{2})} \left[a(-i) \left[e^{a\pi} + e^{a\pi} \right] - 2a \right]$$

$$= \frac{1}{\pi(a^{2}+n^{2})} \left[a(-i) \left[e^{a\pi} + e^{a\pi} \right] - 2a \right]$$

$$= \frac{1}{\pi(a^{2}+n^{2})} \left[a(-i) \left[e^{a\pi} + e^{a\pi} \right] - 2a \right]$$

$$= \frac{1}{\pi(a^{2}+n^{2})} \left[a(-i) \left[e^{a\pi} + e^{a\pi} \right] - 2a \right]$$

$$= \frac{1}{\pi(a^{2}+n^{2})} \left[a(-i) \left[e^{a\pi} + e^{a\pi} \right] - 2a \right]$$

$$= \frac{1}{\pi(a^{2}+n^{2})} \left[a(-i) \left[e^{a\pi} + e^{a\pi} \right] - 2a \right]$$

$$= \frac{1}{\pi(a^{2}+n^{2})} \left[a(-i) \left[e^{a\pi} + e^{a\pi} \right] - 2a \right]$$

$$= \frac{1}{\pi(a^{2}+n^{2})} \left[a(-i) \left[e^{a\pi} + e^{a\pi} \right] - 2a \right]$$

$$= \frac{1}{\pi(a^{2}+n^{2})} \left[a(-i) \left[e^{a\pi} + e^{a\pi} \right] - 2a \right]$$

$$= \frac{1}{\pi(a^{2}+n^{2})} \left[a(-i) \left[e^{a\pi} + e^{a\pi} \right] - 2a \right]$$

$$= \frac{1}{\pi(a^{2}+n^{2})} \left[a(-i) \left[e^{a\pi} +$$

and the eigen values and eigen vectors for $A = \begin{bmatrix} 2 & 1 & 1 \\ 0 & 1 & 0 \\ 1 & 1 & 2 \end{bmatrix}$ and then find A^2 $= |A - \lambda I| = 0 \Rightarrow \begin{bmatrix} 2 - \lambda & 1 & 1 \\ 0 & 1 - \lambda & 0 \\ 1 & 1 & 2 - \lambda \end{bmatrix}$ $(2-\lambda)[2-3\lambda+\lambda^2]-(1-\lambda)=0$ $(4-6\lambda+2)^2-2\lambda+3\lambda^2-\lambda^3-1+\lambda=0$ = (2-1) [(1-1)(2-1)] - (1-1) = 0 $(2-\lambda)(2-3\lambda+\lambda^{2})-1+\lambda=0 \Rightarrow (3-6)\lambda^{2}-4\lambda+3$ $-\lambda^{3}+5\lambda^{2}-7\lambda+3=0 \Rightarrow \lambda^{2}-5\lambda^{2}+7\lambda-3=0 \qquad \lambda^{2}-4\lambda+3$ $(\lambda-1)(\lambda^{2}-4\lambda+3)=0 \Rightarrow (\lambda-1)(\lambda-3)(\lambda-1)=0 \qquad (\lambda-1)(\lambda^{2}-5\lambda^{2}+7\lambda-3)$ $\lambda=1 \qquad \lambda=1 \qquad X=1 \qquad X$ $\begin{vmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \end{vmatrix} \Rightarrow \begin{vmatrix} x_1 + x_2 + x_3 & 0 \\ x_2 = x_1 \end{vmatrix} \Rightarrow \begin{vmatrix} x_1 = -x_1 - x_2 \\ x_2 = x_1 \end{vmatrix}$ = (x1) = [-4-2] = 2 [-1] +22 [-1] $\frac{1}{7} N = 3 \Rightarrow \begin{bmatrix} -1 & 1 & 1 \\ 0 & -2 & 0 \\ 1 & 1 & -1 \end{bmatrix} \xrightarrow{R_3 : R_3 + R_1} \begin{bmatrix} -1 & 1 & 1 \\ 0 & -2 & 0 \\ 0 & 2 & 0 \end{bmatrix} \xrightarrow{-2 \times 2} \xrightarrow{-2 \times 2} \xrightarrow{-2 \times 2} = 0$ 2-X1+0+250 -> X1=2 -> [X2 -x3]=20)

$$A^{2} = 5\lambda^{2} + 7\lambda - 3 = 0$$

$$A^{2} = 5A^{2} + 7A - 3I = 0$$

$$A^{2} = 5A + 7I - 3A^{2} = 0 \implies A^{2} = \frac{1}{3}[A^{2} - 5A + 7I]A^{2}$$

$$A^{2} = \frac{1}{3}[A - 5I + 7A^{2}] = \frac{1}{3}[A - 5I + 7[\frac{1}{3}[A^{2} - 5A + 7I]]A^{2}]$$

$$A^{2} = \frac{1}{3}[A - \frac{5}{3}2 + \frac{7}{3}A^{2} - \frac{35}{3}A + \frac{49}{3}I]$$

$$A^{2} = \frac{1}{3}[\frac{7}{3}A - \frac{32}{3}A + \frac{34}{3}I] \implies A^{2} = \frac{7}{9}A^{2} - 8A + \frac{34}{3}I$$

$$A^{2} = A \cdot A = \begin{bmatrix} 2 & 1 & 1 \\ 0 & 1 & 2 \end{bmatrix} \begin{bmatrix} 2 & 1 & 1 \\ 0 & 1 & 2 \end{bmatrix} = \begin{bmatrix} 4+1 & 2+1+1 & 2+2 \\ 0 & 1 & 1 & 2 \end{bmatrix}$$

$$A^{2} = A \cdot A = \begin{bmatrix} 2 & 1 & 1 \\ 0 & 1 & 2 \end{bmatrix} \begin{bmatrix} 2 & 1 & 1 \\ 0 & 1 & 2 \end{bmatrix} = \begin{bmatrix} 4+1 & 2+1+1 & 2+2 \\ 0 & 1 & 1 & 2 \end{bmatrix}$$

$$A^{2} = \frac{7}{9} \begin{bmatrix} 5 & 5 & 4 \\ 4 & 1 & 5 \end{bmatrix} - 8 \begin{bmatrix} 2 & 1 & 1 \\ 0 & 1 & 2 \end{bmatrix} + \frac{34}{3} \begin{bmatrix} 1 & 0 & 0 \\ 0 & 0 & 1 \end{bmatrix}$$

$$A^{3} = \begin{bmatrix} \frac{35}{9} - 16 + \frac{34}{3} & \frac{35}{9} - 8 & \frac{28}{9} - 8 \\ \frac{7}{9} - 8 + \frac{34}{3} & 0 \end{bmatrix}$$

$$\frac{28}{9} - 8 \quad \frac{7}{9} - 8 \quad \frac{7}{9} - 8 \quad \frac{35}{9} - 16 + \frac{34}{3} \end{bmatrix}$$

$$Al = 0$$

$$Al = 0$$

$$C = 0$$

$$C$$